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are so many predators. Because of that, we’ve come up to the new brand technology called 

don’t

 

weather station that can’t be moved because it is placed 
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#include <SoftwareSerial.h>  
#include <dht.h>  
#include<Servo.h> 
Servo servo; 
SoftwareSerial module_bluetooth(0, 1); // pin RX | TX int 
EnA=5, EnB=6; 
int En1=8, En2=9, En3=10, En4=11; 
int forward = 1; int backward = -1; int turnR = 2; 
int turnL = -2; 
int s = 500; //fastet speed 
char command = '0'; //taking the command from 
bluetooth dht DHT; 
int dht_pin = A0; 
int temp_threshold = 40; int ldr_pin = A1; 
double ldr_val = 0; double lux = 0; 
int lux_threshold = 50; int relay_pin = 7; 
bool led_status = false; int buz_pin = 4; 
int buz_tone = 5000;  
int buz_delay = 500;  
bool buz_status = false; 
 
void setup() {  
Serial.begin(9600); 

         
    module_bluetooth.begin(9600);  
    servo.attach(2); 
    servo.write(90); //default position  
    pinMode(EnA, OUTPUT); //left, speed control  
    pinMode(En1, OUTPUT); //left, forward  
    pinMode(En2, OUTPUT); //left, backward  
    pinMode(EnB, OUTPUT); //right, speed control    
    pinMode(En3, OUTPUT); //right, forward  
    pinMode(En4, OUTPUT); //right, backward  

    pinMode(dht_pin, INPUT); 



pinMode(ldr_pin, INPUT); 
pinMode(buz_pin, OUTPUT); 
pinMode(relay_pin, OUTPUT); 
Serial.println("\nTemp Hmd Lux Buz LED"); 
attachInterrupt(0, gogo, CHANGE); 

} 

void loop() { 
ldr_val = analogRead(ldr_pin); 
lux = (788.69)*(pow((ldr_val/(1023-ldr_val)),(1.4)));  
//converting the signal into lux  
DHT.read11(dht_pin); //reading the data of temperature and 

humidity 
if(DHT.temperature >= temp_threshold){ 
tone(buz_pin, buz_tone, buz_delay); 

buz_status = true; 
}else{ 
noTone(buz_pin); 
buz_status = 
false; 

} 
if(lux <= lux_threshold){ 
digitalWrite(relay_pin, 
HIGH); led_status = true; 

}else{ 
digitalWrite(relay_pin, 
LOW); led_status = false; 

} 
//printing out all of the values 
Serial.print(DHT.temperature); 
Serial.print(" "); 
Serial.print(DHT.humidity); 
Serial.print(" "); Serial.print((int) lux); 
Serial.print(" "); 

 
if(buz_status){ 
Serial.print("ON"); 

}else{ 
Serial.print("OFF"
); 

} 
Serial.print(" "); 
if(led_status){ 
Serial.println("ON"); 

}else{ 
Serial.println("OF
F"); 

} 
delay(1000); //1 second delay before the next reading 

} 
void gogo(){ //ISR 
if(Serial.available()>0){ command = 
Serial.read(); Serial.print(" 
command : "); 
Serial.println(command); 
switch(command){ 

case 'F' : go(forward, s); 
break; case 'B' : go(backward, 
s); break; case 'R' : go(turnR, 
s); break; 
case 'L' : go(turnL, s); break; 
case 'S' : go(forward, 0); break; //stop default : 
go(forward, 0); break; //stop 

} 
delay(10); 

} 
} 
void tilt(int value){ 
servo.write(value); 

} 
void go(int dir, int speed1){ 
switch(dir){ 

        case 1 : digitalWrite(En1, 1); digitalWrite(En2, 0); 

digitalWrite(En3, 1); 
                      digitalWrite(En4, 0); tilt(90); break; //forward 
 

case -1 : digitalWrite(En1, 0); digitalWrite(En2, 1); 
digitalWrite(En3, 

0); digitalWrite(En4, 1); tilt(90); break; //backward 
 

case 2 : digitalWrite(En1, 1); digitalWrite(En2, 0); 
digitalWrite(En3, 1); digitalWrite(En4, 0); tilt(70); break; 
//turn right, then set the servo bcak to normal position 

case -2 : digitalWrite(En1, 1); digitalWrite(En2, 0); 
digitalWrite(En3, 1); digitalWrite(En4, 0); tilt(120); break; 
//turn left, then set the servo bcak to normal position 

default : digitalWrite(En1, 0); digitalWrite(En2, 0); digitalWrite(En3, 
0); 

digitalWrite(En4, 0); break; 
} 
analogWrite(EnA, speed1); 
analogWrite(EnB, speed1); 

}
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